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B.A. Semester-111 Examination, 2022-23

SOCIOLOGY [Honours]
Course ID : 31113 Course Code : AH/SOC/303/C-7
Course Title : Sociology of Gender

Time : 2 Hours Full Marks : 40
The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in
their own words as far as practicable.
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UNIT-1

1. Answer any five of the following questions:
2x5=10
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a) Explain the term 'LGBTQ".
LGBTQ *(s 3=t e |

b) What do you understand by 'gender based

marginalization'?
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g)

h)
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What are the differences between 'sex' and

'gender'?
G 8 (STl W) 2Ny &2
What is gender socialization?
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Why do you think sexual and reproductive

rights are important for women?
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Name two social reformers who fought for
changing the status of women in the 19th

century India.
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What do you understand by 'masculinity’ and

'femininity'?
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Who are Ecofeminist?
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UNIT-1I

2. Answer any four of the following questions:

5x4=20
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a)

b)

d)
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Write a short note on Marxist feminism.
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What are the differences between radical and

liberal feminist?
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Do you think violence can be gendered?

Explain with suitable examples.
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"One 1s not born a woman, but becomes one."

Analyse the statement in the Indian Context.

"One is not born a woman, but becomes one."—
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Do you think legal measures are sufficient to
tackle gendered violence? Explain in your own

words.
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Define the word 'rape'? Do you think men and

women both can be victims of this crime? Do

you support 'capital punishment' for rape?
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UNIT-II

3. Answer any one of the following question:

10x1=10
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b)
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"Feminism is changing history to her story"—
Narrate analytically women's political
participation, activism and movement in
modern India in the light of the above
statement.

"Feminism is changing history to her story"—
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Elaborate with appropriate examples how
patriarchy functions in terms of cultural-

religious constructs, class- caste hierarchy and
hegemony in personal and political domains.
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